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Introduction

In the last RAN4#91 meeting, there were some extensive discussion on the simulation assumptions for IAB coexistence study, WF [1] was approved to initialize the co-existence simulation work within RAN4 group.Therefore in this contribution, we want to share more detailed considerations on these aspects to trigger the simulation for alignment purpose.
Discussion 
The power control formula in TR36.942 as shown in the equation (1) should be reused for IAB simulation. 
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                           (Equation 1)

Where Pmax is the maximum transmit power of NR UE, and Rmin is the minimum power reduction ratio to prevent UEs with good channels to transmit at very low power level. For Pmax and Rmin value for NR UE is the same as the legacy LTE UE, therefore the key point is how to derive CLxile. The specific derivation steps are shown as following: 

Step1: calculate the noise power received by the NR BS.

The noise floor at IAB side should be 
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                    (Equation 2)
Where NF is the noise floor at the IAB, BW is the scheduled bandwidth for each NR UE or IAB MT. For 

Step2: calculate the Po_pusch according to the SNR.

If the target SNR is assumed as 15dB for mmWave BS in the access link, then 
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                        (Equation 3)
Step3: calculate the CLxile according to Po_pusch.
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Where 
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 is equal to 
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 in the above equation (4), therefore the equation (4) can be simplified as 
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Based on the simulation assumptions defined in the WF [1], the CLxile could be derived as following:   
Proposal 1: for legacy FR2 NR UE, propose to use the following parameters for simulation. 
-
CLx-ile = 88 + 10*log10(200/X), where X is UL transmission BW (MHz)
-
γ = 1
Proposal 2: for FR2 IAB MT, propose to use the following parameters for simulation. 
-
CLx-ile = 81 + 10*log10(200/X), where X is UL transmission BW (MHz)
-
γ = 1
Proposal 3: for FR1 NR UE, propose to use the following parameters for simulation. 
-
CLx-ile = 97 + 10*log10(100/X)-
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, where X is UL transmission BW (MHz)
-
γ = 1
Proposal 4: for legacy FR1 IAB MT, propose to use the following parameters for simulation. 
-
CLx-ile = 91 + 10*log10(100/X)-
[image: image9.wmf]D

, where X is UL transmission BW (MHz)
-
γ = 1
Note:
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, adjustment parameter related to different carrier frequency point. For fc=2GHz, 
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Conclusions

In this contribution, we shared more detailed considerations on power control parameters for IAB coexistence study to trigger the simulation for alignment purpose and proposals are made as following: 

Proposal 1: for legacy FR2 NR UE, propose to use the following parameters for simulation. 
-
CLx-ile = 88 + 10*log10(200/X), where X is UL transmission BW (MHz)
-
γ = 1
Proposal 2: for FR2 IAB MT, propose to use the following parameters for simulation. 
-
CLx-ile = 81 + 10*log10(200/X), where X is UL transmission BW (MHz)
-
γ = 1
Proposal 3: for FR1 NR UE, propose to use the following parameters for simulation. 
-
CLx-ile = 97 + 10*log10(100/X)-
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, where X is UL transmission BW (MHz)
-
γ = 1
Proposal 4: for legacy FR1 IAB MT, propose to use the following parameters for simulation. 
-
CLx-ile = 91 + 10*log10(100/X)-
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, where X is UL transmission BW (MHz)
-
γ = 1
Note:
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, adjustment parameter related to different carrier frequency point. For fc=2GHz, 
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